Sum of node in Path equal to Sum argument?

We'll define a "root-to-leaf path" to be a sequence of nodes in a tree starting with the root node and proceeding downward to a leaf. We'll say that an empty tree contains no root-to-leaf paths. So for example, the following tree has exactly four root-to-leaf paths: 

              5 
             / \ 
            4   8 
           /    / \ 
         11 13  4 
         /  \         \ 
        7    2        1 

Root-to-leaf paths: 
   path 1: 5 4 11 7 
   path 2: 5 4 11 2 
   path 3: 5 8 13 
   path 4: 5 8 4 1 

For this problem, we will be concerned with the sum of the values of such a path -- for example, the sum of the values on the 5-4-11-7 path is 5 + 4 + 11 + 7 = 27. 

Given a binary tree and a sum, write code to return true if the tree has a root-to-leaf path such that adding up all the values along the path equals the given sum. Return false if no such path can be found.
int PathSumsEqual(struct node* node, int sum) { 
Input below: Build a binary tree from the linear binary tree found in file tree1Data:
  (  ‘ _ ’ represents a no value node)

Look up sums:  27, 25, 28, 30, 31

There is possibly more than one path for each sum, use all paths that give each sum.

** Read in data as Char **

